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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt any four questions.

3. All questions carry equal marks.

4. Answers may be written either in English or in Hindi; but the same medium should
be used throughout the paper.
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1. Examine the significance of its geographical environment in the context of Stone
Age Delhi. .
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2. Explain the term ‘Protohistory’. Discuss the significance of the Late Harappan

settlements of Delhi.
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3. Evaluate the significance of archaeological and literary sources for the
reconstruction of the early history of Dethi.
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4. Discuss the location and content of the rock inscription of Asoka at Bahapur.
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S. The Mehrauli Iron Pillar is a symbotl of both, the political history and technological
development, of ancient Delhi. Elaborate.
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6. Write a critical essay on the earliest Tomar settlements of Delhi.
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7. Describe the tradition of worshipping of ancient images in modern Delhi village
shrines. i}
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8. Write short notes on any two of the following :
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(a) Stone Age tools of Delhi
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(c) Ashokan Pillar Inscriptions in Delhi
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{d) Origin of the name ‘Delht’
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